

# Penthouse in Sliema



## Sliema, Sliema and St Julians Surroundings



**€1,500,000**

Reference No: 240091040-592

 Total Rooms: **8**

 Floor Area (m<sup>2</sup>): **345**

 Bathrooms: **2**

 Bedrooms: **3**

# Penthouse - For Sale - Sliema

Sliema - New on the market is this is this airspace with permits to build a penthouse commanding excellent sea views from the fantastic spacious terrace, three double bedrooms one of which enjoys a spacious walk in and ensuite and guest bathroom. The airspace is being offered with the respective permits , freehold and including airspace. Garages are also available in the block at an extra cost.

## Features

## Rooms

- ✓ Open Space : 5 x 1.2 m (6 m2)
- ✓ Dining : 7 x 5.7 m (39.9 m2)
- ✓ Living : 4.5 x 4.5 m (20.25 m2)
- ✓ Kitchen : 4.5 x 6 m (27 m2)
- ✓ Double Bedroom : 3.4 x 4 m (13.6 m2)
- ✓ Double Bedroom : 3.05 x 4 m (12.2 m2)
- ✓ Bathroom : 2.5 x 3 m (7.5 m2)
- ✓ Bathroom Ensuite : 2.26 x 3 m (6.78 m2)
- ✓ Double Bedroom : 3.1 x 5.48 m (16.99 m2)

# Gallery









**Pierre Borg**

RE/MAX Crown - Sliema

M: 99499337

E: pierre@remaxcrown.com

T: 21342410

**RE/MAX Crown - Sliema**

166, 169, Tower Road, Sliema, Malta